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BR64ETH K H B
HT HK A0 (58) A (40) An GH
H #HT 475 389 385 774
AT 1,759 1, 656 1,792 3,448
JHET 964 893 827 1,720
== 1T 1,276 982 1, 060 2,042
FFHT 1,981 1,835 1,899 3,734
JTHT 1,696 1,708 1, 857 3, 565
i 862 933 977 1,910
A AET 621 509 561 1,070
At ZEHT 897 854 876 1,730
BT 672 609 621 1,230
HAET1 T H 892 847 853 1,700
HARET2 TH 803 778 763 1,541
PEFTIR 1 T H 2,196 1,815 1,952 3,767
VEETIR 2 T H 980 874 912 1,786
FRET 1T H 1,591 1,311 1,647 2,958
T2 TH 1,258 938 1,120 2,058
kAT 3 T H 1, 450 1,418 1,547 2,965
T4 TH 2,896 2,646 2, 877 5,523
SRHET 946 900 949 1,849
FRAEHT 1,196 1,137 1,235 2,372
EFIT1 TH 514 441 489 930
EJFET2 TH 773 826 779 1,605
KT 3 T H 729 714 698 1,412
EJFIT4 TH 223 225 221 446
EJFET5 TH 500 469 518 987
AL P IR BT 1,117 1,124 1,077 2,201
[ B AT 1, 597 1,626 1,766 3,392
FiEs 1,217 1,236 1,295 2,531
E1TH 423 452 492 944
tE 2 TH 650 743 766 1,509
tE3TH 468 524 520 1,044
EE4 T H 406 509 491 1, 000
FAZENT 1,432 1, 056 1,094 2, 150
-1l 712 687 729 1,416
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A F64ET A K HBUE
HT 4 H Ao () A0 (&) UNEINGY!
Z A LHT 1,019 804 999 1,803
ERNET 988 1,107 1,097 2, 204
KETHH 168 95 154 249
[icg gzl 864 903 854 1,757
HOHTHHT 1,008 1,069 1,061 2, 130
KFEHE 1,751 2,014 1,992 4, 006
KFFRIL 1,531 1,527 1,592 3,119
Al - /N 6,227 6, 344 6, 365 12, 709
KT TNLEm 4,967 5, 398 5,378 10, 776
KR EE 4,831 4,573 4, 642 9,215
WAL 951 793 836 1,629
[EREa 493 403 406 809
S 1,535 1,397 1,475 2,872
EoE1TH 571 558 523 1,081
BEo=2TH 716 645 650 1,295
KFEA K 4,840 4,992 5,071 10, 063
KFEFIE 3,413 3,597 3, 627 7,224
KFA 11,113 11,461 12, 006 23, 467
K7 Eilin 2,003 2,031 2,022 4,053
/INFFRET1 TH 2, 629 2,303 2, 687 4,990
/INFFRET2 TH 1,303 1, 240 1,193 2,433
/INFFRET3 TH 2, 436 2,174 2, 454 4,628
/INFFRET4 TH 1, 620 1, 496 1,518 3,014
KEd s 1,071 1,140 1,135 2,275
KFEFE 2, 360 2,526 2,633 5, 159
KFAH A A 732 614 715 1,329
== = 863 987 984 1,971
KFEdsit 80 111 90 201
1 T H 913 970 1,014 1,984
2 TH 989 1,099 1,100 2, 199
B3 T H 885 770 897 1,667
B4 TH 678 682 782 1,464
w5 TH 790 783 858 1,641
KFEWRZF 318 306 317 623
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BRI64ETH K H BAE
my 4 A AR (B AR (&) AR GH
KT 204 248 231 479
KPR 802 935 962 1,897
RF-H HH 141 177 174 351
KFBTH 152 186 166 352
KFHIH 16 20 19 39
KFFE A 462 539 488 1,027
Pl 1 TH 1,061 1,001 1,136 2, 137
il E2TH 1,144 1,132 1,187 2,319
=M1 TH 928 978 1,049 2,027
M2 TH 350 316 394 710
3 TH 831 837 884 1,721
A TH 1,189 1, 104 1,153 2,257
HRLAr 1 TR 1,648 1, 465 1,601 3, 066
WL F2 TH 1,417 1,529 1,544 3,073
Bkl 3 TH 781 823 922 1,745
WL F4 T H 381 231 314 545
WL E5 T H 157 148 171 319
WL 6 TH 585 482 569 1,051
Pl 1 TH 1,069 1,088 1,067 2,155
w2 TH 327 332 367 699
farE1TH 1, 508 1,430 1,397 2,827
My 2TH 695 726 748 1,474
M3 TH 862 828 821 1,649
#1TH 277 345 300 645
H2TH 269 320 324 644
#3TH 1,393 1, 390 1, 454 2,844
= &1TH 365 424 394 818
= E2TH 186 213 214 427
= &3TH 292 355 341 696
=E4TH 430 482 452 934
—&5TH 683 711 697 1, 408
Heo 359 416 395 811
| 227 276 275 551
WA2TH 959 911 916 1,827
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SFN64ETH K HBAE
i) % A (59) AB (%) UNEGD)
WA3TH , 045 1,341 1,475 2,816
WAR4TH 100 74 109 183
WA7TH 332 344 367 711
WA TH , 530 1,126 1, 356 2,482
FRER1ITH , 738 1,824 1,881 3,705
FRER2TH 938 990 979 1,969
1 TH 234 249 264 513
2 TH 517 609 648 1,257
It 3TH , 038 1,111 1,169 2, 280
4 TH 60 77 71 148
e [ B 364 441 404 845
bR T 608 552 624 1,176
AT IR 594 700 724 1,424
WETIR1 T H , 500 1,472 1,325 2,797
WATIR 2 T H , 393 2, 639 2,436 5,075
WRETIR 3 T H , 536 1, 620 1,439 3,059
WATIR 4 T H 451 519 476 995
WAETIR5 T H 833 773 755 1,528
RPTRFIE 1 T B , 348 1, 460 1,299 2, 759
WHATRAIE 2 T H 352 1,384 1,301 2, 685
WHTRAIE 3 T H 861 938 859 1,797
<TDEHE1ITH 441 299 370 669
<TDEH2TH 724 663 602 1,265
<TDEHE3ITH 864 709 793 1,502
TER1ITH 153 155 141 296
TER2TH 409 510 497 1,007
HEm 3 T H 542 601 588 1,189
TER4TH 592 636 634 1,270
MMRE1TH 680 742 767 1,509
MMRE2TH 710 754 828 1,582
INFFRFE1TH 546 590 656 1,246
INFEFRFE 2 TH 547 571 604 1,175
INFfER 3T H 899 1,008 978 1,986
INFfER4 T H 805 975 947 1,922
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BRI64ETH K H BAE
i) W A (59) AR (&) AR GH
INFHER 5 T H 563 764 682 1, 446
/INFFERG 6 T H 605 590 625 1,215
/INFFEET 5 T H 582 594 583 1,177
WNFRRTET 1 T H 789 786 764 1,550
/WNFfRTET 2 T H 565 616 601 1,217
/NFFRTHT 3 T H 857 1,068 1,072 2, 140
JEEFHHET 1 T H 90 102 115 217
LB 2 T H 26 36 21 57
¥ 1 TH 292 322 317 639
¥ 2 TH 156 183 182 365
¥ 3 TH 192 142 199 341
B 1 TH 99 122 119 241
kB2 TH 141 174 172 346
B3 TH 143 169 178 347
EFH1TH 841 825 811 1,636
E#FH2TH 1,270 1,379 1,349 2,728
EHFIE3ITH 1,424 1,569 1,583 3, 152
EHFI4TH 1,349 1,445 1, 580 3,025
EHFIESTH 1,712 1,925 1,944 3, 869
INEEE 874 947 948 1,895



















